
Plane Geometry 
Coaxial system of  Circles

If the circle u2+y2 +29x +2 fy+ c =0
is a circle of a Co-ancial Aystem
having the origin as its limiting point ,
show that other limiting point is

:if



Proof limiting point is centre of point
I

Circle of Co-axial system .

10
, 01 is limiting point (given

ef . of point Circle

(x - 0) + ly-0 = 0

x + y2 = 0 - ⑪
x2+ y2 + 29x + 2fy + c = 0 -

subtract I from ⑪



/ /22 + y2 + 2gn + 2fy + c -x-y=0

29x + 1fy + c = 0

which is Radical axis ofI

ef . of Circle Co-axial With ① is

(nx + y2) + x(2gx + 2fy + c) = 0

x2 + y + 29xx + 27xy + xc = 0
Centure : ( -gx , -fX)



Radius : (Ei2- X

for limiting point
Radius = 0

Sit*-(x = 0

g, + 12x2 - x = 0

x(g2+ +Y - c) = 0
x = 0 (g2 +f2) x = c
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